ﬂh |dentifying Change Visually Name:

Solve each problem. Answers
1) Roger spent $1.54 buying some new toys. He bought them using a twenty dollar bill. How much
change should he get back’? 1
2.
3.
2) Oliver bought $8.46 worth of groceries. He gave the cashier aten dollar bill. How much change
should he get back'?
P B.
C. D
3) Biancaspent $7.67 on amovie ticket. She gave the cashier atwenty dollar bill. How much change
should she get back?
1-3 [67]33] 0
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ﬂh |dentifying Change Visually Name:Answer Key

Solve each problem. Answers
1) Roger spent $1.54 buying some new toys. He bought them using a twenty dollar bill. How much
change shoul d he get back’? 1 A
2 A
3 C
2) Oliver bought $8.46 worth of groceries. He gave the cashier aten dollar bill. How much change
should he get back'?
P B.
C. D
3) Biancaspent $7.67 on amovie ticket. She gave the cashier atwenty dollar bill. How much change
should she get back?
1-3 [67]33] 0
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